Example 10-2
type LEP_10_2
% "LEP_10_2"

% m-file to perform least-squares regression Example 10-2

% x(1)=k ; x(2)=KB ; x(3)=KT

function f=LEP_10_2(x)

n=16;

f=0;

RATE=[71 71.3 41.6 19.7 42 17.1 71.8 142 284 47 71.3 117 127 131 133 41.8];

PT=[1 1 1 1 1 1 1 1 1 .5 1 5 10 15 20 1];

PH2=[1 1 1 1 1 1 1 2 4 1 1 1 1 1 1 1];

PM=[1 4 0 0 1 0 0 0 0 0 0 0 0 0 0 1];

PB=[0 0 1 4 1 5 0 0 0 0 0 0 0 0 0 1];

for i=1:n;

    f=f+(RATE(i)-x(1)*PT(i)*PH2(i)/(1+x(2)*PB(i)+x(3)*PT(i)))^2;

end

xo=[100 1 1];

x=fminsearch('LEP_10_2',xo)
x =

  144.7673    1.3905    1.0384
So k = 144.7673, KB = 1.3905, and KT = 1.0384.
